@WT{H—& dowun the Ql&ﬂgi-{-‘fcovﬁu\q .:J{-I Turnbert
Systena..

Clessi{i cobrom:
Nummberc
\ -
—_[RG?J( Nuvyrh e | rCmPle_,: "r"'-uﬂﬂbq;\
i ¥ AP
Rotiovoy | \ﬂrm’ttnm.:u| | |
] N T fureely Ren \ \_Tune !]
\l'\mpﬂ‘mﬂ,{
‘\ :

N H“ T Precpe ]
o ¥e WUW'I@:E“F = ‘Muﬂgd'

e ) i

e \HCI'H\ETL Prine *ﬂgl{l K&nﬁmﬂu{k

Cﬁwﬁ‘-’h

Scanned with CamScanner



@ Fivd the Prime ch-}ortimﬁm ﬂ\c 540 Wivg

Artee,

Solution; The +ree diedram fore e frivme fuetors
'S 08 '{:DHGLJS:

540
P
2 270

/“\%

3
,3/ 30

v the obove dree dicdrem fri-me fuctorns are
(wdicated by Cineles, S0 the frime -{:nc-]nr:}zm-h'm
of He muvnbere B840 1S oS GF “the £FEG‘-\MQCDRWJ

B40 - X2 x3X¥BXIX5:- 55

Scanne d with CamScanner



@F’I"‘I"Id ount the &\l “Fﬂﬂ-'h:;rrg ﬂ'r 540.

2|540

BEZ‘-‘_
3]20
3130
Q 0

o)

Soluhon:

Puyne -Fw:-‘rurtizavﬁt:m c:f 540 1S 540= 2X2X 3x3x3AX 5

-:g"::Sq_ 5‘
The -l-o-}m] TNuromber 0{ J(E*G%ﬂrr-f“a 1S r(ﬁﬂ){‘%D.U"fU
=.92.,49.2 °
Here, =

540 =2 % 270 540=\8 X320

540 = X |$0 540 = Q0x27F

540 = 4x 135

540 = 5x|08 540=1,2.3.4,5.€.210, 12,15, 18,
0,2 3%, 30, 3C,45,54,60,

54“ = Q,X?Cl

54° = :}XGI‘J 904" -II'D%;- \35; lg-n.ﬁ Q'HD
omnd 54o

540 = Jox 54

540 - 12x45

540 = |5x3C

Scanned with CamScanner



2 Whet is Hhe GreD € \CM of 240 € 540.

aj2do 2|50
4|

20
2160
2]3”;_.
3|15

5

KR40 =ax2x AX2 x 23xg5
:2:1' :31. 5|
540="2x2x 3 x3x3 x5
=273 5
Fivelly, 4he 6D of 240 @540 is =9 3\ 5"

=4,35
=G0

the | oM of 240 ond 540-23.3> 5'
=1¢.2%.5
= Q|CO0 Aw

Scanne d with CamScanner



@F{'ﬂd 'H'II.’; H-C-F ond L*C:M c-r 49, C9 and: |40,
So|whon:
Heree, 42 =2x2| =:2x'3x?:-=1'-3l- 7
C3= 2 xQ|:= 'axgx'}t. =3, 7!
1490 =2x 70=9x2 x 35 -Ax2X5x% 2.5+ ¥

hmertt-{nr:t . the HeF of 12,63 and |40 1s- ?/1
w:

© Find the HeFond oMol 2.3, 47 ond o
Soluton -
FoctoriZotion of Nusmds Nuvmeradors
R=2=9q'
@ : 9x4=2x9 x2 =97
IC = 2xQ@ =9x 2x4 = 2x2x2x2 =9
I =2x5-9'xs5'
Her of Nuwmerodonts 15 =2'= 2

M D‘r thnﬂ-m 1'5 :,'1'1 ,{5' =\¢x5 =0

Scanned with CamScanner



ond algo i’fs Polom, c’.KPa'nt'“-Hc*\ -@n'm.
Sojuhon:

L, _JANTL (1 + N30 _ {i+AN3T)

e

@F;ﬂd 4he Ynodwlus ond F\n’aumeﬁ{ oF 7=

I-N3T (-NED(A4NED 14 (B

14
| -

NaT

&)

1 raN3idely | Haagit3 o ok £

e
N‘_' =
- %_-J,-—ali
sot1b Where or= —llf"'“d b:"'@j_‘

Scanned with CamScanner

vl



@& Evoluode ATC X N4 owmd

N-1¢ x N=7
=4, 22,
=1

* -§

Rnd ExPﬂhE"n""l‘ﬂ'-l ‘Ir‘:rt'i"h,'?_.fe'l'

A
N=TE
N
NTG
5
4

| T Tar

T @)

Scanned with CamScanner

3

SR T2TTTOTTTTOTTOT T T T T 7T 1T 1T 9 1§ 0T % 9 % 4T % o4 4 4 4 T < 4 4 A



@ E'vm\u ote Modwlus ond nl'ldbx"mewm-]- ::F
gz =2V'b‘f TePlaeingd z = a+
Qalu-h'aw .

gz =2
:%(Qi—i)-—(ﬂ-l;)/
-lIc4eim4-4i =17
=13 + 4

Moduwus = N137+497 = Niss

F}rzawmcwt = -]-cm"(—'% =1%.lo

@Exprcesg 1+ 1N3 v the -Fcrrc'*m uf

20|uton .
J + N3

A NETEETY

1(Cos ot




